
Bitte lesen Sie vor der Verwendung des Produktes unbedingt dieses Handbuch und folgen den darin enthaltenen Anweisungen!

Please read this manual before using the product and follow the instructions it contains!

Veuillez lire ce manuel avant d‘utiliser le produit et suivre les instructions qu‘il contient!

MONTAGEANLEITUNG 
ASSEMBLY INSTRUCTIONS

INSTRUCTIONS DE MONTAGE
Konferenztisch

Conference table
Table de conférence

LINA280
LINA350



  www.topregal.com  info@topregal.com  +49 (0)7158 9181 500   +44 (0)20 78941516   +33 (0)1 707004962

FRFR

ENEN

DEDE

STÜCKLISTE | PARTS LIST | LISTE DES PIÈCES

Nr.

No.

N°

Zubehör | Einzelteile | 

Accessories | Single parts | 

Accessoires | pièces

Anzahl |
Quantity |
Quantité

1

Tischplatte

Table top

Plateau de table

1x

2

Tischbein

Table leg

Pied de table

2x

3

Mittlere Gestellstrebe

Middle rack brace

Montant central de la structure

1x

4

Äußere Gestellstrebe

Lateral rack brace

Montant extérieur de la structure

2x

5

M8 x 20 Schraube 

M8 x 20 screw 

M8 x 20 vis

32x

6

M8 x 70 Schraube 

M8 x 70 screw 

M8 x 70 vis

13x

7

5 mm Inbusschlüssel

5 mm allen key 

5 mm clé Allen

2x

8

Winkelblech 

Angle plate 

Tôle angulaire

8x

9

Höhenverstellbarer Fuß 

Height adjustable foot 

Pied réglable en hauteur

4x

10

M8 Einpressmutter (vorinstalliert) 

M8 insert nut (pre-installed) 

Écrou à sertir M8 (préinstallé)

13x



  www.topregal.com  info@topregal.com  +49 (0)7158 9181 500   +44 (0)20 78941516   +33 (0)1 70700496 3

FRFR

ENEN

DEDE

MONTAGE  |  ASSEMBLY  |  MONTAGE

1

2

3

Befestigen Sie die X-förmigen Tischbeine (2) mit Hilfe der 
Winkelbleche (8) an den Gestellstreben (3) (4). Nutzen 
Sie hierfür die M8 x 20 Schrauben (5). Montieren Sie die 
höhenverstellbaren Füße (9). 

Attach the X-shaped table legs (2) to the rack braces (3) 
(4) using the angle plates (8). Use the M8 x 20 screws (5) 
for this purpose. Mount the height adjustable feet (9). 

Fixez les pieds de table en X (2) sur les montants (3) (4) 
à l’aide des tôles angulaires (8). Utilisez pour cela les vis 
M8 x 20 (5). Montez les pieds réglables en hauteur (9).

Stellen Sie das Tischgestell so in den Raum, wie der 
Tisch ungefähr später stehen soll.  

Place the table frame in the room in the approximate 
position you want the table to be later.  

Placez le piètement de la table dans la pièce, de la même 
manière que la table sera placée plus tard. 

Legen Sie die Tischplatte (1) vorsichtig auf das Tischgestell. 
Achten hierbei auf die Schraubenlöcher. Für diesen Schritt 
empfehlen wir eine Personenzahl von 3 – 4.

Carefully place the table top (1) on the table frame. Pay 
attention to the screw holes. For this step we recommend 
3 – 4 people.

Posez le plateau de table (1) avec précaution sur le cadre de 
table. Faites attention aux trous de vis. Pour cette étape, nous 
recommandons un nombre de personnes de 3 à 4.



  www.topregal.com  info@topregal.com  +49 (0)7158 9181 500   +44 (0)20 78941516   +33 (0)1 707004964

FRFR

ENEN

DEDE

REINIGUNG & PFLEGE | CLEANING & CARE | NETTOYAGE & ENTRETIEN

Befestigen Sie die X-förmigen Tischbeine (2) mit Hilfe der Winkelbleche (8) an den Gestellstreben (3) (4). Nutzen Sie hierfür 
die M8 x 20 Schrauben (5). Montieren Sie die höhenverstellbaren Füße (9). 

Attach the X-shaped table legs (2) to the rack braces (3) (4) using the angle plates (8). Use the M8 x 20 screws (5) for this 
purpose. Mount the height adjustable feet (9). 

Fixez les pieds de table en X (2) sur les montants (3) (4) à l’aide des tôles angulaires (8). Utilisez pour cela les vis M8 x 20 
(5). Montez les pieds réglables en hauteur (9).

1.	 Um die Oberfläche zu schützen, vermeiden Sie die Verwendung von Chemikalien und Haushaltsreinigern.
2.	 Verschüttete Flüssigkeiten auf der Platte sollten sofort mit einem feuchten Tuch aufgewischt werden.
3.	 Die Schrauben können sich mit der Zeit lockern. Prüfen Sie regelmäßig, ob alle Verbindungen fest angezogen sind.

1.	 To protect the finish,avoid use chemicals and household cleaners.
2.	 Any liquid spilled onto the top should be cleaned up immediately with a damp cloth.
3.	 The screws may loosen over time. Periodically check that all connections are tight. 

1.	 Pour protéger la finition, évitez d’utiliser des produits chimiques et des nettoyants ménagers.
2.	 Tout liquide renversé sur le dessus doit être nettoyé immédiatement avec un chiffon humide.
3.	 Les vis peuvent se desserrer avec le temps. Vérifiez périodiquement que toutes les connexions sont bien serrées.

Hinweis: Bei der Tischplatte handelt es sich um ein Naturprodukt und jeder Tisch ist ein Unikat.

Deshalb können beispielsweise Unebenheiten und Astlöcher sichtbar sein, wie auch durch natürliche Stammformen 
Differenzen in den von uns genannten Maßen auftreten. Diese Eigenheiten erzeugen den unverwechselbaren Charme 
eines naturbelassenen Massivholzes. Tiefere Astlöcher und Gabelungsrisse werden zur schöneren Optik aus gleichem 
Holz verbunden, wodurch es zu leichten farblichen Abweichungen kommen kann. Die genannten Eigenschaften stellen 
keine Reklamationsgründe dar.

4
Schrauben Sie die X-förmigen Tischbeine (2) mit Hilfe der 
M8 x 70 Schrauben (6) auf die Tischplatte. Legen Sie die 
Gestellstreben (3) (4) entsprechend der Abbildung 2 auf 
die Tischplatte (1). Schrauben Sie diese mit den M8 x 70 
Schrauben (6) fest. Nutzen Sie hierfür die beiliegenden 
Inbusschlüssel (7).

Screw the X-shaped table legs (2) to the table top using 
the M8 x 70 screws (6). Place the rack braces (3) (4) on the 
table top (1) as shown in Figure 2. Screw them tight with the 
M8 x 70 screws (6). Use the enclosed Allen key (7) for this 
purpose.

Vissez les pieds de table en forme de X (2) sur le plateau de 
table à l’aide des vis M8 x 70 (6). Placez les montants (3) 
(4) sur le plateau de table (1) conformément à la figure 2. 
Fixez-les avec les vis M8 x 70 (6). Utilisez pour cela la clé 
Allen fournie (7).



  www.topregal.com  info@topregal.com  +49 (0)7158 9181 500   +44 (0)20 78941516   +33 (0)1 70700496 5

FRFR

ENEN

DEDE

Note: The table top is a natural product and each table is unique.

Therefore, for example, unevenness and knotholes may be visible, as well as differences in the dimensions stated by 
us due to natural trunk shapes. These peculiarities create the unmistakable charm of a natural solid wood. Deeper 
knotholes and fork cracks are joined together for a more beautiful look using the same wood, which may result in slight 
colour deviations. These are not reasons for complaint.

Remarque : le plateau de table est un produit naturel et chaque table est unique.

C’est pourquoi des irrégularités et des trous de noeuds peuvent être visibles et que des différences dans les dimensions 
indiquées peuvent apparaître en raison de la forme naturelle du tronc. Ces particularités créent le charme unique d’un 
bois massif naturel. Les trous de noeuds plus profonds et les fentes de fourche sont reliés avec le même bois pour un 
plus bel aspect, ce qui peut entraîner de légères différences de couleur. Tous ces éléments ne constituent pas des motifs 
de réclamation.

SERVICE & KONTAKT | SERVICE & CONTACT | SERVICE & CONTACT

Kontaktieren Sie unsere Produktexperten und finden Sie Hilfe und Lösungen für Ihr Produkt. Hier finden Sie alle 
Kontaktinformationen nach Land und Sprache gelistet: www.topregal.com/de/service   
 
Verantwortlich für den Inhalt: 
TOPREGAL GmbH 
Industriestraße 3 
70794 Filderstadt 
GERMANY 
www.topregal.com

Contact our product experts and find help and solutions for your product. Here you will find all contact information  
listed by country and language: www.topregal.com/en/service
 
Responsible for the content: 
TOPREGAL GmbH 
Industriestrasse 3 
70794 Filderstadt 
GERMANY 
www.topregal.com

Contactez nos experts produits et trouvez de l'aide et des solutions pour votre produit. Vous trouverez ici toutes les 
informations de contact listées par pays et par langue: www.topregal.fr/fr/service  
 
Responsable du contenu:
TOPREGAL GmbH 
Industriestraße 3 
70794 Filderstadt 
GERMANY
www.topregal.com

http://www.topregal.com/de/service
http://www.topregal.com 
http://www.topregal.com/en/service
http://www.topregal.com 
http://www.topregal.fr/fr/service
http://www.topregal.com 


  www.topregal.com  info@topregal.com  +49 (0)7158 9181 500   +44 (0)20 78941516   +33 (0)1 707004966

FRFR

ENEN

DEDE
EU Declaration of Conformity
The manufacturer / distributor

TOPREGAL GmbH
Industriestrasse 3
70794 Filderstadt  
Germany

hereby declares that the following product

complies with all relevant provisions of the applicable legal regulations (hereinafter) - 
including their amendments in force at the time of the declaration. The sole responsibility 
for issuing this declaration of conformity lies with the manufacturer. This declaration refers 
only to the machine in the condition in which it was placed on the market; parts and / or 
interventions subsequently fitted by the end user are not taken into account.

Name and address of the person who is authorized, 
compile the technical documentation:

TOPREGAL GmbH
Industriestrasse 3
70794 Filderstadt
Germany

Product designation: 

Juergen Effner
Chief Executive Officer	

Konferenztisch LINA 280 / LINA 350

Place: Filderstadt

Date: 01.08.2021	

Type: 

Conforms to the provisions of the following European directives:

Conforms to the provisions of the following standards:



  www.topregal.com  info@topregal.com  +49 (0)7158 9181 500   +44 (0)20 78941516   +33 (0)1 70700496 7

FRFR

ENEN

DEDE



V 
12

.0
1.

23


